North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3.108215 & 3.208215 Long-Arm Mowing along Primary & Secondary Paved Routes in Sampson County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$1000.00	\$1000.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$500.00	\$1500.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$500.00	\$1500.00
4	6136000000-Е	SP	LONG-ARM MOWING, PRIMARY ROUTES	198.80	SMI	\$250.00	\$49,700.00
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	934.42	SMI	\$240.00	\$224,260.80

TOTAL BID FOR PROJECT: \$277,960.80

CONTRACTOR PLCL Contracting LLC		
ADDRESS P.O. Box 282 Ayden, NC 28513		
Federal Identification Number 83-3822763		
Contractor's License Number N/A		Contraction
Authorized Agent Maria Rogerson Signature Waria Rogerson Witness Christi Edwards Signature Maria Rogerson	Title Managing Member Date 10-3-2023 Title Office Admin Date 10-3-2023	SEAL SOUR CAROLINA 2019
Point of Contact for Post-Bid Inquires (e.g., Let Execution)	ters of Intent, Insurance, Bon	ds, and Contract
Name Maria Rogerson		

Email picicontractinglic@gmail.com	
Phone 252-341-7953	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA I TRANSPORTATION	
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications, Reviewed by NCDOT	Date 10 5 3
Accounted by Nichor Mary & King made	Data 10/3/53



Execution)

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3.108215 & 3.208215 Long-Arm Mowing along Primary & Secondary Paved Routes in Sampson County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	\$5,000.00	\$5,000.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	4T1.000.00	\$3,000.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$1,000,00	\$3,000.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	198.80	SMI	\$ 262.00	6 5a,085.60
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	934.42	SMI	·	a 244, 818,04

TOTAL BID FOR PROJECT: _ #307

bime Moore

contractor JMC Clearing & Mulching LL ADDRESS 4959 Harrison-Phelps Rd. La Grange Federal Identification Number 85-1829790	c e, NC 2855
Contractor's License Number 19583	
Authorized Agent Qime Moore Title Member Dunor Signature Date D-2-2023 Witness Frederick M. Harnison Fatle 12+noss Signature Frederick M. Warnison Fatle 12-2023	CORPORATE SEAL
Signature Meneral III I was I was I	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract

Email_	jaime harrison moore@ gmail.com	
Phone	252-559-9960	

THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEP	A DTMFN'	r OF		
TRANSPORTATION	AKTIVIEN	Or		
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for R				
Reviewed by NCDOT Doote murphy	Date_	10 9	5/	23
Accepted by NCDOT Mary Kimmel	Date_	10/5	/2	13

46 Sampson County D3POC0171

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3.108215 & 3.208215 Long-Arm Mowing along Primary & Secondary Paved Routes in Sampson County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	2,500.00	2,500.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	1,500.00	4,500.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	1,500.00	4,500.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	198.80	SMI	330.00	65,604.00
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	934.42	SMI	350.00	327,047.00

TOTAL BID FOR PROJECT: 404,151.00

Signature

Name Noah Saunier

Execution)

CONTRACTOR DanGrady Company L	LC.	
ADDRESS 1517 little savannah rd Sylv		
Federal Identification Number 85-08	24997	
Contractor's License Number 99645		
Authorized Agent Noah Saunier	_{Title_} Member	CORPORATE
Signature	Date 10/03/2023	SEAL
Witness Katherine Harrall	Title Officer	
Signatur	Date 10/03/2023	

Date

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract

Email_Noah@dangradyco.com	
Phone (828) 506-0112	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA	A DEDADTMENT OF
TRANSPORTATION	A DEPARTMENT OF
This bid has been reviewed in accordance with Article 103-1 of the Standard Specification	ns for Roads and Structures 2018.
Reviewed by NCDOT Dootie Murphy	Date 10 5 23
Accepted by NCDOT Mary Kimmel	Date 10/5/23